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PART - A (PHYSICS)

meg F FF

In a simple microscope of focus length 5 cm final image is formed at D, then its magnification will be ;
(16 (2)5 (3) 2 41

(1)
D 23
M=1 — M=1+—=6
°F 5

Cenire of mass of a ring will be at a position.
2R'n

In a full wave rectifier in which input voltage is represenied by V = Vu sin wf, then peak inversion
voltage of non conducting diode will be :

(1) = V., (2) V.2 (3) 2V, (4)0
(3)
PIN = 2V,

& long cylindrical wire carrying current of 10 amp. has radius of 3 mm, then find its magnetic field
imduction at a poimt 2 mm from the centre of the wire
(116=10"T 2)24=107"T (332=10""T 40B=10"T
(1)
uslr

2:R?

B= e =107 x 10221072 _ 40=107"
2w (G H:l']':l2 25x10%

=16=10°T



A parallel plate capacitor of 1uF capacity is discharging through a resisior. If its energy reduces to half
im one second. The value of resistance will be

2 4 B 16
1) ——— M0 2) — M 3 —M ) —M
Hm{g] Hm{E] 0 Hm{E] 0 HFME] 0
(1)
B =@, 8" when energy is 507
B

then E_-..I'E
L
ﬂ_eue
E"":-H'IE
t t
el B

1
H‘“'an{iz]

1 1 10° 2

A CnWE) 10EmE) mE) mE

Water iz flowing in a non viscous tube as shown in the diagram. The diameier at point A and point B are

0.5 m and 0.1 m respectively. The pressure difference between points A & B are AP = 0.8 m, then find
out the rate of flow :

0.1
0.3m m
Q=AA, M
{olAZ —aZ)
P, +LpVZ =P, + 1pv2 Q=AV,=AV.

2 2

1
P —Pz = 5p(Vz - Vi)

1 (o2 o]
P —Py=sp| - —
-AE_AE-
E:F.‘I_FIE]=Pi ;EAEEJEE
| Ay R

2P, —P,)
Q=AA, fm

'Biot Savart’ law of magnetism is analogous o :
Columbs Law's
Bio savart law is analogous to coulomb's law but i it was not in option then Gauss's law is comrect.
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In a eleciro magnetic wave the expression for eleciric field is given by E = 50 sin [wf — kx} the
permeability is given u = 4y, & permittivity =, = &,, then find the average imtensity delivered :

(1) (2) (3 (4
)
2M,
In the diagram find out the current through 202 (R.) -
R, 20
AAAN

R T W
§39 40 —

02
j’_ AN —C
bv 3
an§ N
40 T
B A

LetV, =050V, =0
V. =3volt V, = — Gvolt
30, Vo-V.=IR

9
=2
An N-P-N fransistor is connected in common emitter configuration in which collector supply is 9V and
the woltage drop across the load resistance of 100061 connected in the collector circuit is 1 V. If current

amplification factor is [(23/26), If the imternal resistance of the transistor is 2000, then which of the
following options is incarrect.

B=1=2 Amp.

F

iva  000aER|1v
H .

; +
R
The circuit arrangement is shown in figure. Collector current, | = Voltage drop acrossR,
R,
= i N 5
m_m amp
Mowwc V.. =9-1=8volt
I 25 _10°
Current gain p = b or 8k

l,=1.04 = 107" amp

In a hydrogen spectrum third line of Balmer's series having wavelength . Find the binding energy of
the ground state.

L= i .
% Rz [iE]“ {5#2]



13.

Sol.

14.

Sol.

15.

Sol.

16.

Sol.

17.

Sol.

& wire of zome lengih is bent in the form of a ring of diameter 2a having self inductance L, then L will

depend upon a as ;
& = MBA
I

LI=MN . za®. N

2a
Mow M = 2za=

/ ol s
H=—— S0, L= D g

2na Z2ra 2a Ta
Lea™

What will be the position of centre of mass of a half disc as shown :

A

0 g —p
(1) e (2) éﬂ (3 2 (4) SE
o n T X

Fact that C.O.M. of hait disk is at distance of g_a from center.
m

In a LCR series resonating circle circuit. Give the value of average power loss :
Average power loss

R

Pe=V_, .l co0s50p=V_...
JR? (X - Xc

Fimd the minimum wavelength of X-rays tube emitied by X-ray tube, which iz operating at 15 kv.
Accelerating voltage.

L= 12400 _ 12400
e lI'II||n ol 15«10

=082A

& galvanometer gives full scale deflection of 1 volt when acting like a volimeter when connected in
series with 2 k 0 resistance. The zame galvanometer gives 500 mA. Full scale deflection when acting

like a ammeter when connecied with shunt resistance of value 0.2 &2 in parallel. Find out the resistance
of galvanometer.

[
- e
S 20000
AAAA — A
4 v 031, 020
V=1,(R+G) 051, 0.20
1= 1, (2000 + G) — LG=(05-1) =02
0.1
I= mJ{BZII:HE:I LL.G=01-021
G:+:02=2M+01G LG+02)=0.1
095 =199.0
G=19949
------- - =222 W



A uniformly charged non conducting disc with surface charge density 10 nC/m® having radius R = 3 cm.

Then find the value of eleciric field intensity at a point on the perpendicular bizector at a distance of
r=2cm.

+
+++++:++ A
[ 1
E = k6.2n 1_;J
=S

E=9«10° =1un1u*xs_zar1_ x|
|_ 4+9J

2
E=906.281-
)

E=251.2NC

length L from a hook fixed io a stand. f mass of each ball = m & iotal angle between the two strings is
B0®, then find the charge on each ball.

TsimA
-

2rsing

mg

Tsing = ———
42 gin @

Teooss = mg
L
4¢* =in® amg

e 4/ sin® a.tan@
'HI K

tané =



21.

& magnetic material iz placed in a non-uniform magnetic field which is oriented along z-axis having

gradient = ‘%H , then force experienced by the material will be egual to

MdB
F=ror
dz

dB  pgdx

Mow — =—=—
dz dz

30 F= m.u.;._g (m = magnetic moment)

A Rocket having initial mass 5 = 10® kg. Which include mass of fuel of mass 4 = 10° kg is ejecting gas
with welocity 4000 m/s relafive io Rocket, then what will be the velocity of the Rocket when entire fuel
finishes.

[m ]
) _u"’f'mlﬁJ

[5x10°
WV =4000./n

| 1,1u°J

V=400 rn (3)
V=6437.70 m's

second maximum is formed at the distance of 2 mm from the centre of the screen, then find out the
wavelength of light.
4 1™ maxima

¥

Path difference

. G
Asng = —
2

T
datang = —
2

¥y _ ok
D2

3 _Eﬂf_Eaﬂ.Tn1ﬂ'3aEa1ﬂ'3

80 ax1

Eéﬂ « 10~ meter

_ %, 10-7 = S600A

In a solar cell current iz generated due to bond breakage in which region.
(1) depletion region (2} n-region

(3) p-region (4} Mone of these

In solar cell bond breakage becomes at depletion region.



=

In a modulated signal the maximum amplitude iz 15 Volt and minimum amplitude is 5 Volt, then
amplitude of signal wave will be :

Maximum amplitude = A, + Az=13

minimum amplitude = A_-A.=5

s0 28, = 20

A =10

In a series LA circuit (L =3 H, B = 1.5 ) and DG voltage = 1 V. Find current at T = 2 seconds.

£

1= qlt-e"]

L 1 -
=— = — = 2
T - I 5 [1 g ]
3
1.5

T =

af
=2 I==1-—| =04
3| ") =O4A™

If 1 cm® of water is vaporized (latent heat of vaporization = 540 cal'g®C) at P = 1 atm. If the volume of
steam formed is 1671 cm” calculate increase internal energy.

A = AU+ AW
m=1gm
L. = S40 caligm
Al =1 =540=540
M0 = Au + Pay
540 = Au + 10° = {1671-1)= 10°°
M0 = au + 167
Au = 540 - 167
=373 cal

In the figure shown 5 is the source of white light kept at a distance x, from the plane of the slits. The

source moves with a constant speed u towards the slits on the line perpendicular fo the plane of the
slits and passing through the slit 5. Find the instanteneous velocity (magnitude and direction) of the

central maxima at time t having range 0 =t << %’ . Assume that D == d.

s_uj—hlﬂ =
-— o -
u
d[
B
e kgt
|-|;;r:p'|l||1l|
""EIHE""\,.
a2 B
D tard
tan @ = 9 and E y,=DtanB=D. ¢4
Ix Ix
1-'.,=£ll='DTd.E = v, = D y v, = _ DU (downwards)
dt X7 d 2 2(x, L)



Light iz incident on a polarizer with intensity 1.. A second prism called analyzer is kept at a angle of 137,
from the first polarizer then the intensity of final emergent light will be :

| I‘ﬂ'
_—

I= 10 eoe® (159)

1= 2. 2cos" (157

1=0461d

A =atelliie orbiting ceriain planel has apogee H, and perigee equal to R., then find the minimum kinetic
energy that should be given to the satellite to enable it to escape the planate.

k. &. should be given = | 1.
_ Gmm
T 2a
_ Gmm
AR, +R,)

Assertion : Rainy clouds appear dark from below.

Reason : There is not sufficient light which can be scattered by these clouds.

(1) i both assertion and reason are true and reason is the comect explanation of asserion.
(2] i both assertion and reason are true but reason is not the correct explanation of assertion.

(3) i assertion is frue but reazon is false.
i4) if both assertion and reason are false.

(1)

Assertion : Magnetic field can not change K.E. moving charge.

Reason : Magnetic field can not change velocity vector.

(1) i both assertion and reason are true and reason is the comect explanation of asserion.
(2] if both assertion and reason are true but reason is not the comrect explanation of assertion.

(3) if assertion is frue but reazon is false.
(4) i both assertion and reason are false.

(3)



37.

Aszertion : Met electric field insider conducior is zero

Reason : Total positive charge equals to tofal negafive charge in a conductor

(1) i both assertion and reason are true and reason is the comect explanation of assertion.
(2] i both assertion and reason are true but reason is not the correct explanation of assertion.
(3) i assertion is frue but reason is false.

(4] i both assertion and reason are false.
(3)

Assertion : All the charge in a conductor gets distributed on whole of its outer surface.
Reason : In a dynamic sysiem, charges try to keep their potential energy minimum

(1) i both assertion and reason are true and reason is the comect explanation of asserion.
(2] if both assertion and reason are true but reason is not the correct explanation of assertion.
(3) i assertion is true but reason is false.

i4) i both assertion and reason are false.

(1)

Assertion : Water waves in a river are not polarized.

Reason : Water waves are longitudinal im nature.

(1) i both assertion and reason are true and reason is the comect explanation of asserion.
(2] if both assertion and reason are true but reason is not the correct explanation of assertion.
i3) i assertion is true but reazon is false.

i4) i both assertion and reason are false.

(1)

Assertion : In a siring wave, during reflection from fix boundary, the reflecied wave is inverted.

Reason : The force on string by clamp is in downward direction while string is pulling the clamp in
upward direction.

(1) i both assertion and reason are true and reason is the comect explanation of asserion.

(2] if both assertion and reason are true but reason is not the correct explanation of assertion.

(3) i assertion is true but reazon is false.

E:; If both assertion and reason are false.

Assertion : Surface tension decreases with increase in temperature.

Reason : On increasing iemperaiure kinetic energy increases and intermolecular forces decreases.
(1) i both assertion and reason are true and reason is the comect explanation of asserion.

(2] if both assertion and reason are true but reason is not the correct explanation of assertion.

(3) if assertion is true but reason is false.

i4) i both assertion and reason are false.

(1)

Assertion : Torque on a body can be zero even if there is a net force on it.
Reason : Torgue and force on a body are always perpendicular.

(1) i both assertion and reason are true and reason is the comect explanation of asserion.
(2) if both assertion and reason are true but reason is not the correct explanation of assertion.
(3) if assertion is true but reason is false.

i4) if both assertion and reason are false.

(2)
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PART - B (CHEMISTRY)

What is observe when Zn is heated

(1) yellow (2] Violet
(1

Due to presence of F- centre

(3} Green {4) Blue

Which option is valid for zero order reaction.

3
(1]t,2=5l.‘ 21t =
(3
For zero order
A=A -kt
T|=i
s 2K

1

t A 32
Lok t 1

==

4
_5["

3 t.=2,, (4) 1:|+=|:l|=|=‘

Violet colour appear in glass when we add-

(1) Cr (2) Mni**
(1)

(3 L (4) K

Cr gives violet colour (according table in NCERT Class X1l pg 222)

In which 'd’ electrons are zemo?
(1) Th i2) E=s
(4

What iz IUPAC name of following?
CH,

Br

(1) 4-Bromo-2-phenylpent-2-ene
i3) 4-Bromo-2-phenylpent-4-ene

(1)

4-Bromo-2-phenylpent-2-ene

Trien is

(1) Hexa dentate, Mono anionic
(3] tetradentate, diamion

(2)

(3) Lu (4) Am

(2} 2-Bromo-4-phenylpent-2-ene
(4} 2-Bromo-4-phenylpent-3-ane

(2} tefradentate, neuiral
i4) Mono denfate, anion
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47,

OH
CHO
Br Br
(1) (2)
OCH,
OH
CHO
Br
(3) (4)
OCH,
OH
(2)
CHO el
Br.. /CCI,
OCH, Br
OH OH

—H group is more activating so attack of Br' [electrophile}) occurs at orho position of <DH group

during ESR

Which is incorrect statement {Exact)

(1) Amyeopectin is insoluble in water

(3] Cellulose is the polymer B-D-glucose
(4)

D-oxyribose sugar present im DMNA is comec

CH,-CH=CH-CH=MN-CH, 45
What is final product

(1) CH, - CH, - CH, - CH, - NH - CH,

(3) CH,- CH, - CH, - CH - N - CH,

(2)

CH,-CH=CH-CH=N-CH, =%, C

GHO

Bir OCH,
OH
CHO

OCH.
OH

OCH,

(2) Fructose is reducing sugar
(4} D-ribose sugar present in DNA

t sugar.

(2) CH, - CH = CH - CH, - NH - CH,
(4) CH, - CH=CH - CH, - OH

H, - CH = CH - CH, - NH - CH,

LiAlH, reduces imine into Amine but does nol reduces C=C double bond

H; NH:
Y
CHO COOH

What i= sequence of reagent use to convert following

{1) Ho/Pd, [Ag(NH.).]" . Br./ NaOH
(3) BroMNaOH. [Ag(NH,).]", H/Pd
(2)

(2) AgliNHa)a]" , Ha/Pd , Bra/NaOH
(4) H/Pd, Br/NaOH, [Ag(NH, ).



Sol.

Ang.

Sol.

Sol.

Sol.

COMH: NH
e T e
COOH

COOH
Match the following
(i) Biodegaradble polymer (p) 3-Hydroxybutanoic acid
(i) Bakelite (q) phenol
{iii) Neoprens irj 2-chiorobuta-1,3-diene
(iv) Glyptal (s) phthalic acid
(1) i —p:ii—q; ii-r; V-5 (2) 1 —aq; il —p ; ii-r; V-5
(3) 1 —p:ii—q; -5 v—r (4) i —&;ii —r ; ii—p; iv—q

(1)

(i} Biodegaradble polymer — PHBY (3-Hydroxybutanoic acid + 4-Hydroxypenianoic acid)
(i) Bakalite — Phenol + Formaldehyde

(iii) Neoprene — 2-chlorobuta-1,3-diene

(iv) Glyptal — Phithalic acid + Ethylene glycol

Crder of increasing acidic sirength

ke

(I {n (1)

(1 0=0=1 (211 =1=| (B =M= (==l

(3)
H

-
ﬁl L@ (more stable due to aromaticity)
H

=
O e, O Anti aromatic (least stable)
H .
OL; BC' Stable by resonance

Acidic nature « stability of conjugate anion (base)
= il = i

H &Nﬁm

NH. % ~NH. NH,
©\CCH,

:I] {}] (1 (V)
Correct order of Basic strength

TN NN (2) 1> 1l > | =V B =lslsV (@)= I
(2)
CH,
CH-NH.  NH. e |
Lp. +| e 4:mﬂ

ocalised ol CHy
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Sol.

Sol.

S0l.

CH.
Hals
P
H Br

CeH:

CH, C.H. CH,
(1) (2) (3)
HWJX\GH HMLUH Hﬁk{m
E'EHS ':H: E'\E-HS
(2)

CH,

H Br__NaDH
C,H, s
(R)

F-center is unpaired e~

Wave lengith of paricular fransition for H atom is 400 nm. What can be wavelength of He" for same

transition :
(1) 400 nm
(2)
1 o1 17
P
. 400
for b = F

Which of the following cantain at least one lone pair in all of its halide

(1) Xe
(1)

C.H.

oH inversion of configuration
CHa,
(S)

(2) 100 nm (3) 1600 nm

_ 400

!

(2) Se

= 100 nm

(3) Cl

OH

(4)
Hﬁix\mm

CH,

(4) 200 nm

(4N

Cne monoalomic gas is expanded adibatically from 2L to 10 L at 1 atm exiernal pressure

find Al (im atm L) 7
(1)-8

(1)

Process is adiabatic

(2) 0

(3) -66.7
Q=0

Al ='W =—|:|..|;"|.'|||Il
=—"1{10-2) atm L

=—8atmL

(4) 58.2



Correct order of acidic strength
OH OH OH

Q O, Ok

i ) ()
(1) 1= Y (3= (4) 1l >
(2)

OH OH H
Q" Oloos
ND, H,
-1 more —i less

Acidic nature « — 1

Which of the following is true for N.O.

(1) Paramagnetic (2} Anhydride of HNO,
(3) Brown gas (4) Exist in solid state I form of [NO; ] [NO3]
(4)

N:0. in solid form exists as NO; & NO;

Which iz least stable in agueous medium
(1) Fe*® {2) Co™ {3) Ni** {4) Mn*

(1
Fe®" quickly oxidizes to Fe™* in agueous medium.

When 45 gm solute is dissolved in 600 gm water freezing point lower by 2.2 K, calculate molar mass of
solute (K, = 1.86 K kg mal™')

1634 (2] 80 gm i3) 90 gm i4) 21 gm
(1)

m, =600 g AT, =22k

M. = 45g k. = 1.86 K kg mol™

M = h.,:l'l'lz _ 1.86=45

= =63.4gmol
AT-m, _ 22.08 ¢

Which of the following is diamagnetic complex

(1) [Co{OX),[" . [Fe(CN), (2) [Co(Ox),]" . [FeF,[
(3) [Fe(Ox), ] . [FeF,[ (4) [Fe(CN), ], [CoR.T
(1)

Diamagnefic complex is are
[Co{Ox), [ and [Fe(CN), T

Which of the following can be reduce easily

(1) V(CO), (2) Mo{CQj, (3) [GMEG],]' (4) Fe(CO),
(1

V(CO), easily reduces to [V(CO), |



Sol.

Sol.

Sol.

When NH,{0.1 M) 50 mi mix with HCI (0.1 M) 10 ml then what is pH of resultant solution (Pk. = 4.75)
(1) 9.25 (2) 10 (3) 9.85 (4) 4.15
(3

NH, + HCl —— NHCI

Initial 50 =01 10=0.1
5 mmiol 1 mmol
Rem. 4 mmal 0 Tmmiol

salt
pOH = pk, + |[Ig—|

=475 +log % =415
pH: 14—p’DH= 14-415=985

What is decreasing order of Baoiling point
C

c—tc
(a) (k) (c)
Mja=b=c 2lb>c=a (Fa=c=b dc=b=a

(1)
Boiling point of alkane « (1) Molecular mass
@) —

Branching

A gas (1g) at 4 bar pressure. If we add 2gm of gas B then the total pressure inside the container is 6
bar. Which of the following is true 7

(1) M, = 2M, (2) My = 2M, (3) M, = 4M,, (4) My = 4M,

(4)

m _n;

PP

Cell equation : A +28° —— A™ +2B

A" 42e — A Er=+0.M4V
and log,, K = 15.6 at 300 K for cell reactions
Fimd E*forB* +2 —— B

Given [2-3‘”3“ =D_EI159J‘
nF _—

(1) 0.80 (2)1.26 (3) - 0.54 (4) +0.94
(1)
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Ans.

Sol.

Ans.

Sol.

Ans.

Sol.

Anig.

Sol.

.

., 0.059
B =—5—logk

2
' 0.059
E!- u_E:‘A=Tm

) 0.059
Ei:- B 0.34 = o
£ =08

«15.6

What happen at increasing pressure at constant temperature

(1) Rate of Haber process decrease

(2) Solubility of gas increase in liquid

(3) Solubility of solid increases in liquid

i4) 2C,,, + CO,,, —— 2C0, reaction move forward

(2)

Solubility of gas increases on increasing pressure according fo Henry's Law

Which of the following is incorrect

(1) Red P is toxic

(2) White P is highly soluble in &5,

(3) Black 'F is thermodynamic is most stable.
(4) White P’ iz soluble in NaOH evolves PH.

(1)

Which of following statement is incorrect.

(1) On prolonged dialysis colloid becomes stable

(2) AgMO, in excess Kl forms negative colloid

(3] AgMO, in excess Kl forms positive colloid

i4) Medicines work best in colloidal form because of greater surface area
(3)

Mixing AgMNO, in excess Kl forms negatively charged colloid

Which are exiensive properties

MVY&E 20 V&T 3V &Cp 4y Pand T
(1)

Extensive quantities depend upon quantity of substance.

Which iz incorrect regarding 5 and P mixing {along £ —axis.)

(1) Modal plane(s) present in ABMO

(2] Modal plane is absent in BMO

(3) MO formed may have higher energy than parent AOD

(4) MO formed are asymimetric

(2)

In Bonding M.O. existing modal plane of Pz orbital is maintaimed

When CH,COOCH, + HCI is fitrated with MaOH then at neutral point the colour of phenopthalein
becomes colourless from pink due fo :

(1) due to formation of CH,OH

(2) due to formation of CH,C00H which act as a weak acid.

(3) Phenophalein vaporizes.

i4) due to presence of HCI

(2)



4.

Anig.

CH,COOCH, —”Hir CH,COOH + CH.OH

HCI + N#aOH —— NaCl + H.O
CH,CO0H + NaOH —— CH,COONa

2101 —— IL+ClL,  K.=0.14

Initial concentration of IC] is 0.6 M
then equilibrium concentration of 1, is ;

(1) 0.37M (2) 0128 M (3) 0224 M
(2]
211 = b + Ck
0.6
06— 2 b § b §
II
K.=014= —
(0.6-2x)°
X
U= 0.6 - 2x
0224 — 0748 x
=X
1.748x = 0,224
x=0.128

(4) 0.748 M

If reaction A and B are given with Same temperature and same concentration but rate of A is double
than B. Pre exponential factor iz same for both the reaction then difference in activation energy E,.-E,.

iz ?

(1) -AT in2 (2) AT m2 (3) 2AT

In2 = E,-E./RT
Ex —E. =RTm2
E,-E,=-RTm2

Which of the following have maximum pH?

(1) Black coffee (2) biood (3) Gastric juice

(2)

Black coffee — 5.0
Blood — 7.4

Gasiric juice -+ 1.8-2.0
Sdliva — 6.8

w5

(4) Saliva



?‘GGCH: 0
GH,—FH—GH—CH;—GH; H,

F—'D—EHu (1) DIBAL-H
é} (2] KOH'&

() CHs—?H—Q=G (2) CH,

HO CH.

=——C—CH;
CH,
(3) (4)

CHO

T5.

CHO

CHO
Ans. (1)
?GGEHJ 0
[
GH:—FH—GH—EH;—GH;—E—GH:.

C—0—CH,
ul’!} lDIEAL—H (Reduction of ester)

GH,—FH—GH—EH;—GH;—JLI:—CH}

CH=0O
lI{(H-U.i Intra molecular aldol

o
EH,—?H—GH—CH,—CH;—C—EH;

Sol CH=0
lN_A.H {Mucleophilic addition reaction

~cH_ciT " C-0

H
OHC" "“'-IZIEH—HEE""'

|
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Ans.

Sol.

ir.

£F

3 g3

Ans.

@\‘?\ HC!
- —t

Cl Cl

m@\/& EI@/K/\

thmramamant

Gl

SANE G A

Assertion : HCOOH formic acid react with H:80, form CO.

Reason : He80, Is mild (moderate) oxidizing agent

(1) ¥ both assertion and reason are true and raason is the comect explanation of assartion.
(2] K both assertion and reason are true but reason Is not the cormect explanation of assertion.

{3) i assertion is true but reason Is false.
E}Immwmmm.

In HCOOH —2% . H0 + CO
Hg50, bshaves like dehydrating agent.

Assertion : Fe™ is not valid for Brown Ring Test.

Reason : Bacause MOy first convert into NOy~

(1) ¥ both assertion and reason are true and reason is the comect explanation of assartion.
(2] K both assertion and reason are true but reason I8 not the cormect explanation of assartion.
{3) H assertion is true but reason s false.

E;%lbuﬂnmiwuﬂmmm.

In Brown ring test, Fe™ oddizes 1o Fe®, and NOy~ reduces to NO.

Assertion : HyPO, and HyPO; both are presant in fertilizers.

Reason : HyPO, increases the solubility of fertillzers.

{1} K both assertion and reason are trua and reason Is the cormect explanation of assariion.
(2) i both assertion and reason are true but reason ia not the cormect explanation of assertion.
(3) H assartion s true but resson is falsse.

E;}h‘hammuﬂmmm,



Assertion : O, has higher boiling point than ..

Reason : O is allofrope of oxygen

(1) i both assertion and reason are true and reason is the comect explanation of asserion.
(2] i both assertion and reason are true but reason is not the correct explanation of assertion.
(3) if assertion is true but reason is false.

(4) i both assertion and reason are false.

(2)

Baoth statements are true but are not related.

Assertion : Tyrosine behave as a acidic aipH=7

Reason : pK, of phenol iz mole than 7.

(1) i both assertion and reason are true and reason is the comect explanation of asserion.
(2) If both assertion and reason are true but reason is not the cormect explanation of assertion.
(3) if assertion is frue but reazon is false.

i4) if both assertion and reason are false.

(1)

Assertion : Fe[OH), and Az.S,; colloidal sol on mixing precipitates

Reason : Fe(OH), and As. S, combine and form new composition precipitate.

(1) i both assertion and reason are true and reason is the comect explanation of asserion.

(2) if both assertion and reason are true but reason is not the cormect explanation of assertion.

(3) i assertion is true but reazon is false.

i4) if both assertion and reason are false.

(3)

Fe(OH), and As.S, are positive and negative colloids. On mixing muiual coagulation causes
precipitation

Assertion @ + CH,-CH—CH.—Cl —®% _, Product is isopropyl benzene

Reason : Due to rearrangement of primary carbocation into secondary carbocation

(1) i both assertion and reason are true and reason is the comect explanation of assertion.
(2] if both assertion and reason are true but reason is not the correct explanation of assertion.
(3) i assertion is frue but reason is false.

(4) if both assertion and reason are false.

(1)

O-C.H, Br
Assertion : . +C_H.OH
MO '

p-nitrogthyl

phenyl ether
Reason : due to formafion of highly stable carbocation.
(1) i both assertion and reason are true and reason is the comect explanation of asserion.
(2) if both assertion and reason are true but reason is not the cormect explanation of assertion.
(3) i assertion is true but reazon is false.
i4) if both assertion and reason are false.
(4)



Assertion : In zieses salt coordination no. of Pt is five
Reason : ethene is bidentale ligand

(1) if both assertion and reason are true and reason is the comect explanation of assertion.
(2] if both assertion and reason are true but reason is not the comrect explanation of assertion.
(3) i assertion is frue but reason is false.

(4] if both assertion and reason are false.

(4)

Zieses salt :

H.G E:
|—Pt—Ci
H.C En
Co-ordination no. is 4
Ethane is monodentate

Aszzertion : When one solvent mixed with other solvent, vapour pressure of ong increases and other
decreases
Reason : When any solute added into solvent, vapour pressure of solvent decreases

(1) i both assertion and reason are true and reason is the comect explanation of assertion.
(2) if both assertion and reason are true but reason is not the comrect explanation of assertion.
(3) if assertion is true but reason is false.

i4) i both assertion and reason are false.

(2)

Assertion :The surface tension of water is more than other liquid.
Reason : Water molecules have strong imter mobecular H-bonding as aftractive force.

(1) i both assertion and reason are true and reason is the comect explanation of assertion.
(2) if both assertion and reason are true but reason is not the comrect explanation of assertion.
(3) if assertion is true but reason is false.

i4) i both assertion and reason are false.

(1)

Strong hydrogen bonding intermolecular forces results in greater surface tension of waler.

Assertion : Anti histamine does not effect secreation of acid in stomach :

Reason : Anti Histamine and antacids work on different receplors.

(1) i both assertion and reason are true and reason is the comect explanation of asserion.
(2] if both assertion and reason are true but reason is not the comrect explanation of assertion.
i3) i assertion is true but reazon is false.

i4) i both assertion and reason are false.

(1)



PART - C (BIOLOGY)
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Select the correct labelling of above diagram

(1) A— Desert , B-Grassland, C— Tropical rain forest, D- Temperaie forest, E-Coniferous Forest
(2) A— Grassland, B- Desert, C— Tropical rain forest, D- Coniferous Forest, E- Temperale forest
i3] A— Coniferous Forest, B— Grassland, C— Tropical rain forest, D- Temperate forest, E- Desert
i4) A— Tropical rain forest, B—- Grassland, C— Desert, D- Coniferous Forest, E- Temperate forest

(1)

Select the wrong pair

(1) BMA polymerase | — 5n AMA 55 rANA, r-BMA
(2) BMA polymerase | — r-HMA

(3) RNA polymerase Il - hnANA

(4) BMA polymerase lll - {RMA

(1)

Citrus canker is caused by

(1) Virus (2) Fungi (3) Bacteria (4) Mone
(3)

Match the column

(a) Virus (i} ‘Schwann

(b) Wiroid (i) T.O. diener

ic) Gell (i) Pasteur

(d) Ribosome (iv) Palade

(1) a—iii, b—ii, c—i, d—iv

(2) a-ii, b, c—iv, diil
(3) ai, b-ii, c—iil, d—iv (4) aiv, biii, ¢, d-ii

(1)



83. Cytokinin involves

(1) Kinetin, zeatin, BAP 2} GA,. IBA, Kinetin
(3) Zeatim, GA,, BAP i4) 1A, Zeatin, kinefin
Ans. (1)

g4, Auxin was first isolated from

(1) Human urine i2) Callus
(3) Coconut milk (4) Mone
Ans. (1)

8. Which of the following group does not represent monocot
Apricot mango, guava, apple, coconut, strawberry
(1) Apricof, mango, Guava
i2) Apple, strawbermy, coconut
(3) Coconut, apple, cashewnut
i4) Cocomut, strawberry, mango
Ans. (1)

96. Which of the following is true for given diagram

A
(1) A — Auiosomal dominant 2} B — Glutamic acid
(3] B — Valine (4} It iz caused due to bacteria

Ans. (3)



ar.

100.

101.

Anig.

Gilycolysis is

(1) Anaerobic {2) Aerobic
(3) Anaesrobic and Aerobic both i4) Mone
(1)

Interphasze divides into

G, 5, G;

(2] Mitosis

i3) Prophase, melaphase, Anaphase, Telophase
i4) Cytokinesis

(1)

Turner syndrome is due o

(1) Loss of X chromosome — 44 + X0 (2} Loss of any chromosome
{3) it is due to trisomy in 21* pair i4) Mone

(1)

In the Diagram given figure of Lac operon

] THE1] THEE A
(1) i — Repressor, z — p-galactosidase, y— Permease, a— Tranzacetylase
(2] i — Inhibitor, z — Repressor, y— Transacetylase, a—- Permease

(3] i — Inducer, z - p-galaciosidase, y— Permease, a— Hepressor
(4] i - p-galaciosidase, z — Repressor, y— Permease, a— Transacetylase
(1)

Match the column

a b C
{i) + + (1) Commensalism
(i) + - {2) Competition
(i) - - {3) Parasitism

)  + 0 (4) Mutualism
(1) (@) 1, (i) 2, (i) 3, (iv) 4

(2) (i) 2, (ii) 3, (i) 1, {iv) 4

(3 (i) 4, (i) 3. (i) 2, (iv) 1

(4) (i) 3, {ii) 2, (iii) 1, {iv) 4

(3)



102.  Match the Column-l & Columm-il

Column- Column-ll

i) MoO, (A) Alcoholic dehydrogenase

i) Mg™* {B) Nitrogenase

(i) Zn** (C) Catalase

iiv) Fe™ iD) PEP carboxylase

(1) (-8, (ii}-D, {iii)-C., (iv)-A (2) (-8, {ii}-A, fii}-D, (-G

(3) (i}, ()-8, fiii)-A, (-G (4) ()-8, {ii}-D, (ii)-A, (v}-C
Ans. (4)

103. Which of the following is not related with electrosiatic preciptator and scrubber
(1) 99 % particulate matier is removed by it (2) 30,
(3) Vapours containing mercury (4) Oxides of nitrogen

Ans. (3)

104.  Which of the following is codons codes for proline.

(1) CCC, CCU, CCG (2) UCC, UGU, CCU
(3] CUG, CUU, CUA (4) CGC, CGG, CCA
Ans. (1)

105. Ploidy level of Mucellus, endosperm, polar nuclei , Megaspore mother cell, female gametophyte

respectively are

(1) 2n, 3m, m, 2n, n (2} 2m, 3n, 2n, N, n

(3l n, 2n,n,2n,n 4} 2m, 3n, 2n, 2m, N
Ans. (1)

106. Which of the following statement is wrong about Abscisic acid :

(1) it helps in general plant metabolism (2} It is antagonistic o GA.
(3) it helps in seed maturation & dormancy i4) Morphogenesis
Ans. (1)

107.  Which of the following is nitrogen fixing algae
(1) Mostoc, Anabaena, Oscillatoria (2} Azolla, Anabaenra , Azotcbactes
(3) Os=cillatoria, Anabaena, Azolla (4) Azolla, Mostoc, Oscillatoria

Ans. (1)



108.

113.

The above floral diagram shiows the floral formula

i 5 Criaem M 1,
1 ©F Pt Og - egK, A,

B 1r‘i‘;.:c-i'l"'1-iﬁul Col
(3) 4 ® § K EL A G,

(2)

How many polypeptide chains are there in 1 Hb molecule?
i1 2ad2p 2] 4w 3 4p 4) 1ad3p
(1)

Which of the following is incormect?

(1) Fructose is reducing sugar i2) Cellulose has p-D Glucose unils
(3) DNA has D-ribose i4) Amylopectin is insoluble in water
(3)

Adrenocorticoids are released from -
(1) Adrenal cortex (2) Thyroid gland (3) Adrenal medulla i4) Gonads
(1)

Which of the following has highest pH?

(1) Human saliva {2) Human blood (3) Gastric juice (4) Urine
(2)

Human Saliva - 6.8

Human blood -7.4

Gastric Juice -1.8

Urine -6

Which fat soluble vitamin helps in synthesis of prothrombin?

(1) Wit K (2) Wit A (3) Vit B (4 Vit G
(1)

Vit B & C are waler soluble

Vit K is fal soluble required for formation of many clotiing factor like prothrombin.



114.  Which exocrine glands are present in skin?
(1) Sweat gland, eccrine
(2) Sweat gland, merocrine
(3) Sweat gland, apocrine
(4) Sweat gland, sebaceous gland

Ans  (4)
115. O, dissociation curve is plotted between pO: and ...

(1) % Hb saturation. (2) pCO,

(3) Hb concentration i4) RBC/mm® of blood
Ans (1)

Sol.

ol D gl W WAL R

o gl o W D

116.  Select the correct matching—

Phylum Character Example
(1) | Hemichordata Motochord Balanoglossus
2] | Mollusca Hadula LUentahum
(3) | Platyhelminthes | Coelomaie Dugesia
(4) | Coelenterata All marine Hydra

Ans  (2)
Sol. Hemichordata does not have Molochord
Platyhelminthes are acoelomate
Coelenterata all are agquatic mostly marine some fresh water.

117.  Which all belong to the zame phylum?

(1) | Mammalia Balaenoplera, Delphinus, Rattus, Felis
[[2) | Poritera Fuspongia, Scypha, Pennailia
(3) | Arthropoda Crab, Limwlus, Aplysia, Cockroach
(4) | Coelenterala | Hydra, Gorgonia , Obelia, Sycon
Ans (1)
Sol. Inthe (2)Oplion Pennatula is coelenterata
(3) Option Aplysia is Mollusca
i4) Option Sycon is Porifera
Balaenoptera is blue whale, Delphinus is Dolphin, Rattus is rat and Felis is cat all are mammals.




118.  Find out the comrect option about Coelenierata —
(1) Cnidoblast and bilateral symmietry
(2) Cridoblast and radial symmetry
i3) Choanocytes and waler camal system
(4) All marine and only sexual reproduction
Ans  (2)
Sol. Cnidoblast iz the unigue character coelenterata and coelenterates have radial symmetry.

119.  Which of the following are true about Mollusca?
(1) Triploblastic and radial symmetry
(2) Bilateral symmetry and calcareous shell
(3) Radula and diploblastic
(4) Calcareous shell and radial symmetry
Ans (2)
Sol. Mollusca have bilateral symmetry and they have CaCO, (calcareous) shell

120. Growth hormone and thyroxin increase the lemgth of —
i1) Bone (2] Muscle i3) RBC i4) Nerve cell
Ans (1)

121. Radioactive C-dating and living fossils are used for -

(1) Biological age (2} Geological age
(3] Age of Rock i4) Geographical distribution
Ans (1)

Sol. Geological age and Age of rock is generally done by K - Ar method or U - Pb method
Carbon dating method is used to estimate the biclogical age

122.  Fibroid (leiomyoma) uterus is a -

(1) Benign tumor of uterus (2} Cancer of hypothalamus
(3) Tumor of cervix epithelium (4) Cancer of vaginal epithelium
Ans (1)

123. Match Column-l imicrobes) to the Column-ll (biclegical products) and select the option having correct

matching.

Columni-l Columin-ll

(A) Acefobacter aceti (i} Citric acid

(B) Clostridium bufylicum (i) Latic acid

(C) Aspergilius miger (iiiy Acetic acid

(D) Lactobaciiius (iv) Butyric acid

Opfions

(1) A{ii), B}, C{iii), D{iv) (2) A{iii), B-{ii), C{i), D{iw)
(3) A{iii), B—{iv), Ci), Dii) (4) A—{iv), Biii), Cii), D-{i)

Ans  (3)



124. Spermatozoa receive nuirition from —

(1) Murse glands (2) Interstitial cells (3} Epididymis 4} Germ cells
Ans. (3)
Sol. Spermatozoa receive nuirition from nurse cell and epididymis.

In the (1) option it is nurse glands not nurse cell

125. Choose the correct oplion from the following based on the digram

i1*) (a) Spermathecae (e) ovary (f) ovarian funnel {j) prostate gland

(2] (a) teslis sac (h) acces=sory glands (g) ovarian funnel, (i) prostate gland

(3] (h) Spermathecae (a) ovary (j) ovarian funnel (c) accessory glands

(4] (h) teslis sac (a) accessory glands (i) ovarian funnel. {g) prostate gland
Ans. (1)

126. Assertion : Hybrid is formed by cross between two organisms that are diffierent in one, or more than
one fraiis
Reason : Mendel crossed two planis differing in one irait to obtain F, plants which iz monohybrid cross
(1) Both & and R are frue and R is the correct explanation of A
(2) Both & and R are frue but B is not comect explanation of A
(3) Aistrue but R is false
i4) A and R are false

Ans. (2)



127.

128.

128,

130.

131.

Assertion : Transpiralion occurs through stomata

Reason : Guitation is due to roof pressure

(1) Both A and R are irue and R is the correct explamation of A
i2) Both A and R are frue but R is mot comrect explanation of A
(3) Ais true but R is false

4] A and R are false

(2)

Asszertion : In cycas, nitrogen fixation is found

Reason : In coralloid roots of cycas, cyanobacteria present

(1) Both A and R are irue and R is the correct explamation of A
(2) Both A and R are true but B is not correct explanation of A
(3) Ais true but R is false

4] A and R are false

(1)

Assertion : Photorespiration is found in all plants

Reason : Im G, plants, first CO, fixation product is formed in bundle sheath cells
(1) Both A and R are frue and R is the correct explanation of A

(2) Both A and R are frue but R is mot  comect explanation of A

i3] A is true but R is false

i4) A and R are false

(4)

Assertion : Psilotum is  living fossil

Reason: Equisetum in heterosporous ptridophyte

(1) Both & and R are true and R is the correct explanation of A
(2) Both A and R are frue but B is not  cormrect explanation of A
(3) A s true but R is false

(4) A and R are false

(3)

Assertion : Fermentation is incomplete oxidation of glucose

Reason : Pyruvic acid decarboxylase, Alcoholic dehydrogenase catalyze the reaction
(1) Both & and R are true and R is the correct explanation of A

(2] Both A and R are frue but B is not correct explanation of A

(3) A s true but R is false

(4) A and R are false

(1)



132

133.

134

135.

136.

Assertion : Lumbncus and Nereis both belong to Annelida.
Reason : They have nephridia.

(1) Both A and R are irue and R is the correct explamation of A
i(2) Both A and R are inue but B is not cormect explanation of A
(3) A is frue but R is false

(4] A and R are falze

(2)

Asszertion : Chymoirypsinogen and trypsinogen are released from gasiric glands.
Reason : They help in the digestion of fats.

(1) Both A and R are irue and R is the correct explamation of A

(2] Both & and R are true but B is not comrect explanation of A

(3) A is frue but R is false

(4] A and R are falze

(4)

Aszzertion : O, easily diffuses from alveoli to tissues and CO, from fissue io alveoli.
Reason : Alveoliis 2-celled thick and capillaries are thin walled.

(1) Both & and R are frue and R is the correct explanation of A

(2) Both A and R are irue but R is not cormect explanation of A

(3) A= true but R is false

(4) A and R are falze

(3)

Aszzertion : Myometrium is important component of uterus.

Reason : Myometrium produces strong contractions during parturition.
(1) Both A and R are irue and R is the correct explamation of A

(2] Both A and R are irue but R is not cormect explanation of A

(3) A= true but R is false

(4) A and R are falze

(1)

Aszertion : Plantz having gene from Bacilius thuringiensis are resistant o insects
Reason : These transgenic planis have recepiors which convert protoxin into aclive toxin.
(1) Both A and R are irue and R is the correct explamation of A

i(2) Both A and R are inue but B is not cormect explanation of A

(3) A= true but R is false

(4) A and R are falze

(3)



137.

138.

139.

140.

Aszsertion : e - interfercn are used in treatment of cancer.

Reason : ¢ - interferon provokes immune system o identify tumor cells.
(1) Both & and R are frue and R is the correct explanation of A

(2) Both & and R are frue but B is not comect explanation of A

(3) A= true but R is false

i4) A and R are false

(1)

Assertion : Dust paricles when come in contact with respiratory tract lead fo sneezing, running nose,
redness of eyes etfc.

Reason : Allergic disorders are caused due to release of histamine.

(1) Both & and R are frue and R is the correct explanation of A

(2) Both A and R are irue but R is not cormect explanation of A

(3) A= true but R is false

(4) A and R are false

(1)

Aszzertion : Papaver somniferum is cultivated to obtain drugs.
Reason : Morphine iz obtained from its latex.

(1) Both A and R are irue and R is the correct explamation of A
(2) Both A and R are irue but R is not cormect explanation of A
(3) A= true but R is false

(4) A and R are false

(1)

Azzertion : Needles should not be used without sterilization.
Reason : AlDS and hepatitis-B spread through body fluid.

(1) Both A and R are irue and R is the correct explamation of A
i(2) Both A and R are irue but B is not cormect explanation of A
(3) A= true but R is false

(4) A and R are false

(1)



The Meeting of World Economic Forum this year was held at

Davos, Switzerlamd

YWhat is the full form of JMNUBM 7

PART - D (GENERAL KNOWLEDGE)

Jawaharlal Mehru National Urban Renewal Mission

Who is the present Loksabha Speaker?

Sumitra Mahajan

Which iz the New Exam conducting body for the Major entrance exams from the next year 7
Mational Testing Agency (NTA)

What is the full form of IMEI 7
International Mobile Equipment Identity

PART - E (MENTAL ABILITY)

Fimd the odd one out.

(1) (2) (3) (4)

(1)

There are 4 red, 3 green & 2 blue balls in a box. f 2 balls are taken out from the box one after the
another then what is the probability that there is no green ball in these 2.

(1) 512 [2) 712 i3 912 (4) In2

(1)

There are 2 boxes A and B. i we take out 10 apples from A box & put these apples in B box then the
number of apples in B box will be 4 times of A box. If we take out 5 apples from B box & put these
apples inte A box then the number of apples in both A & B boxes will be same in numbers. Find out the
total apples in both the boxes :

(1) 20 (2) 30 (3) 50 (4) 60

(3)

Find the odd one out.

|:1:| (2) ‘?\ (3 ||||| (4 .—%p

(4)



